



No. 1035 /SPMU., Date. 18/08/2019 S&ME(MDM)- 348/2013

To

All Collectors.

Sub:- Revised daily ration cost under Mid-Day Meal Programme for the year 2014-15.

Madam/ Sir,

I am pleased to inform you that Government after careful consideration has approved the daily ration cost of ₹4.04 and ₹6.03 for the students of Primary & Upper Primary Schools respectively. The item-wise daily ration cost is enclosed herewith for necessary action at your end.

It is clarified that this calculation is for reference and guidance. Day to day expenditure is to be made on the prevailing market price, availability of seasonal vegetables, keeping the average unit cost of expenditure to ₹4.04 for Primary students and ₹6.03 for Upper Primary students. Hence the management authority will have the flexibility over the items and ingredients of mid-day meal expenditure subject to the condition that the average unit cost is not exceeded.

This will take effect from 25.08.2014.

28

Yours faithfully,

Commissioner-cum-Secretary to Govt.

Memo No. 1036

/SPMU, Dt. 18/08/2014

Copy along with copy of enclosure forwarded to all DCPs/ DEOs/ BEOs for information & necessary action.

Commissioner-cum-Secretary to Govt.

Contd...P/2

Memo No. 1037 /SPMU, Dt. 18/08/2014

Copy along with copy of enclosure forwarded to the SPD, OPEPA/ Director, Elementary Education, Odisha/ Director, Secondary Education for information & necessary action.

State Nodal Officer (MDM) & Ex-Officio Joint Secretary to Govt.

Memo No. 1038 /SPMU, Dt. 18/08/2014

Copy along with copy of enclosure forwarded to the P.S to Minister, S&ME for kind information of Hon'ble Minister.

State Nodal Officer (MDM) & Ex-Officio Joint Secretary to Govt.

Memo No. 1039 /SPMU, Dt. 18/08/2014

Copy along with copy of enclosure forwarded to F.A-cum-Joint Secretary, S&ME Deptt. for information.

State Nodal Officer (MDM) & Ex-Officio Joint Secretary to Govt.

Memo No. 1040 /SPMU, Dt. 18/08/2014

Copy along with copy of enclosure forwarded to the P.S to Commn.-cum-Secretary, S&ME Deptt. for kind information of Commn.-cum-Secretary.

State Nodal Officer (MDM) & Ex-Officio Joint Secretary to Govt.

Memo No. 104/ /SPMU, Dt. 18/08/2014

Copy along with copy of enclosure forwarded to Prof. & HoD, Food & Nutrition, College of Home Science, OUAT/ Nutrition Officer, UNICEF/ Asst. Director, (MI), FS&CW Deptt. / MI, Officer, FS&CW Deptt. for information.

State Nodal Officer (MDM) & Ex-Officio Joint Secretary to Govt.

Revised ration cost for Primary students under MDM for 2014-15

Days	Sl. No.	Name of the content	Quantity	Cost of Ration	Energy (in K. cal)	Protein (in gms)
	1	Rice	100 gms	Free of cost	346	6.4
=	2	Dal	25 gms	1.50	84	5.5
Th	3	Oil	5 gms	0.35	45	-
Mon & Thu	on &	Vegetables (Root & tubers, GLV & others)	60 gms			
Σ	4	Condiment & Salt (Iodised) as required.		0.99	28.8	1.19
	5	Fuel	-	0.40		
		Total =		3.24	503.8	13.09

Average ration cost:

₹ 3.24 x 2 days = ₹ 6.48

Days	Sl. No.	Name of the content	Quantity	Cost of Ration	Energy (in K. cal)	Protein (in gms)
	1	Rice	100 gms	Free of cost	346	6.4
	2	Soya	12 gms	0.90	51	6.5
E	3	Oil	5 gms	0.35	45	2
Tue & Fri	ue &	Vegetables (Root & tubers, GLV & others)	60 gms			
T	4	Condiment & Salt (Iodised) as required.		0.99	28.8	1.19
	5	Fuel	-	0.40	-	-
		Total =	-	2.64	470.8	14.09

Average ration cost:

₹ 2.64 x 2 days = ₹ 5.28

Days	Sl. No.	Name of the content	Quantity	Cost of Ration	Energy (in K. cal)	Protein (in gms)
	1	Rice	100 gms	Free of	346	6.4
				cost		
=	2	Egg	l no.	4.50	86.5	6.7
S	3	Oil	5 gms	0.35	45	
Wed & Sat	S c c	Vegetables (Root & tubers, GLV & others)	60 gms		00000	
*	4	Condiment & Salt (lodised) as required.		0.99	28.8	1.19
	5	Fuel	-	0.40	-	=
		Total =	-	6.24	506.3	14.29

Average ration cost:

₹ 6.24 x 2 days = ₹ 12.48

Average Protein content: 13.8 gms

Average K. Calorie content: 493.6

Total Average Ration Cost of Primary Students : ₹ 4.04

\$

Sando

Revised ration cost for Upper Primary students under MDM for 2014-15

Days	Sl. No.	Name of the content	Quantity	Cost of Ration (in ₹)	Energy (in K. cal)	Protein (in gms)
	1	Rice	150 gms	Free of cost	519	9.6
	2	Dal	30 gms	1.80	111	6.6
& Thu	3	Oil	7.5 gms	0.52	67.5	-
Mon &	4	Vegetables (Root & tubers, GLV & others)	V & others)	40		
Σ		Condiment & Salt (Iodised) as required.		2.10	48	2.02
	5	Fuel	-	0.69		
		Total =	-	5.11	745.5	18.2

Average ration cost:

₹ 5.11 x 2 days = ₹10.22

Days	SI. No.	Name of the content	Quantity	Cost of Ration	Energy (in K. cal)	Protein (in gms)
	1	Rice	150 gms	Free of cost	519	9.6
	2	Soya	25 gms	1.87	85	13.5
F	3	Oil	7.5 gms	0.52	67.5	-
Tue &		Vegetables (Root & tubers, GLV & others)	100 gms	2.10	40	2.02
	4	Condiment & Salt (Iodised) as required.		2.10	48	2.02
	5	Fuel		0.69	-	-
		Total =	-	5.18	719.5	25.12

Average ration cost :

₹ 5.18 x 2 days = ₹10.36

Days	Sl. No.	Name of the content	Quantity	Cost of Ration	Energy (in K. cal)	Protein (in gms)
	1	Rice	150 gms	Free of cost	519	9.6
	2	Egg	1 no.	4.50	86.5	6.7
Sat	3	Oil	7.5 gms	0.52	67.5	-
Wed & S		Vegetables (Root & tubers, GLV & others)	100 gms			
≱		Condiment & Salt (Iodised) as required.		2.10	48	2.02
	4					
	5	Fuel		0.69	_	-
		Total =	-	7.81	721.0	18.3

Average ration cost:

₹7.81 x 2 days = ₹15.62

Average protein content : 20.5 gms Average K. Calorie content : 728.67

Total Average Ration Cost of Upper Primary Students : ₹ 6.03

Kramany

Danka.